é ﬁ ba s0 thap phan, thtr ty cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém:_
4,52+6,4)= 2,43,6+2,3) =

4(6,4+3,8)= 6,3(4,6—2,2) =

(6+4,7)x6,5= 5,8(6,7—-6,4) =

(19,8 +59,4)+9 = (13,8—-7,2)+2=

(6,8 +3)x5,8= (3,5—4,6)x4,1=
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é ﬁ JH ba s0 thap phan, thtr ty cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém: _
4,52 +6,4)=37.8 2,43,6+2,3)=14.16
4(6,4 + 3,8) = 40.8 6,3(4,6 —2,2)=15.12
(6+4,7)x6,5=169.55 5,8(6,7—6,4)=1.74
(19,8 +59,4)+9=28.8 (13,8—7,2)+2=33
(6,8 +3)x5,8=156.84 (3,5-4,6)x4,1=-45I
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